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ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
 

ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  
ЀЀ ЀЀЀЀЀЀЀЀЀЀ  

 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
Ѐ 2017/2018 ЀЀЀЀЀЀЀ ЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ III (ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

 
 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 2017-2018 ЀЀЀЀЀЀЀ ЀЀЀЀ / 
ЀЀЀЀ. Ѐ. Ѐ. ЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀ-
ЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀ: ЀЀЀ-ЀЀ ЀЀЀЀЀ, 2017. – 12 Ѐ. 

 
 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 5-6.1, 5-6.2, 5-6.3, 5-6.4. 
ЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 7-8.1, 7-8.2, 7-8.3, 7-8.4. 
ЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 9.1, 9.2, 9.3, 9.4, 9.5, 9.6. 
ЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 10.1, 10.2, 10.3,10.4, 10.5, 10.6, 11.2, 11.3. 
ЀЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 11.1,11.4, 11.5, 11.6. 
ЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. – Ѐ.: ЀЀЀ, 1966. 
ЀЀЀЀЀ Ѐ.Ѐ., ЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. – Ѐ., 2003. 
ЀЀЀЀЀ Ѐ.Ѐ., ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. – Ѐ.: ЀЀЀЀЀЀ, 2015. 
ЀЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ., ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. – Ѐ.: ЀЀЀЀЀЀ-

ЀЀЀЀЀ, 1982. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 13.09.2017 

ЀЀЀЀЀЀ 60×841/16. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ. ЀЀЀ. Ѐ. 0,75 
ЀЀЀЀЀ 283 ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 500 ЀЀЀ. 

 
 
 
© ЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., 

ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., 2017 
© ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ», ЀЀЀЀЀ, 2017 Ѐ. 
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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  
1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 5-6-Ѐ – 2 ЀЀЀЀ, 7-Ѐ ЀЀЀЀЀЀЀ - 2 ЀЀЀЀ, 8-Ѐ ЀЀЀЀ-

ЀЀЀ – 2 ЀЀЀЀ, 9-Ѐ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀ, 10-Ѐ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀ, 11-Ѐ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 5–8-Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀ, 9–11-Ѐ 

ЀЀЀЀЀЀЀ – ЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ.  

3. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

4. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

5. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

6. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: 

1. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ. 
 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 

1. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ). 

2. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀЀ. 

5. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

6. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ 

5–6-Ѐ ЀЀЀЀЀЀ 
1. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: «ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ...». ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ? 

2. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. ЀЀ, ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ-ЀЀ ЀЀЀЀ 

ЀЀЀЀЀ? ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 

3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ -1» ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

17 ЀЀ/Ѐ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 40 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ, 

ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀ 130 Ѐ. Ѐ. 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 365 ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 

150 000 000 ЀЀ. 

4. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ? ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

 

7-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ? ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ? (ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 24 ЀЀЀЀ 37 ЀЀЀЀЀ. ЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 27 ЀЀЀЀЀ). 

2. ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ 

(108 ЀЀЀ. ЀЀ). ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 103 ЀЀЀ. ЀЀ, 

ЀЀЀЀЀЀ – ЀЀ 65 ЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ», «ЀЀЀЀЀЀЀЀЀ»? ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ». ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ? ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ? 

«…– ЀЀЀЀЀЀ ЀЀЀЀЀ, – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. – ЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, – ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. – ЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀ, – Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ…». 

4. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀЀ 140 000 ЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 13 000 ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
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8-Ѐ ЀЀЀЀЀ 
1. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ («ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ»), ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ 1781 ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀ 100 ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ?  

2. ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 

7500 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ 151,3728 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1600 ЀЀ/Ѐ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 40 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ? (ЀЀЀЀЀЀЀЀ = 1 000 000 000 000.) 

3. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 17 ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: «Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ» – Ѐ ЀЀЀЀЀЀЀЀ: «ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀ, ЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ». ЀЀЀ ЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ? Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ – 

ЀЀЀЀЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ?  

4. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ D = 120000 ЀЀ, ЀЀЀЀЀ Ѐ 95 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 6 ⋅ 10
24

 ЀЀ. ЀЀЀЀЀ ЀЀЀЀ V = 4πR
3
/3, ЀЀЀ π = 3,14. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ρ = 1000 ЀЀ/Ѐ
3
. 

 

9-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ, ЀЀ-

ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ? ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀ? Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ? 

3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 17 ЀЀ/Ѐ. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 85 ЀЀЀЀЀЀЀЀ ЀЀЀ. (1 ЀЀ. ЀЀЀ – 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ). 

4. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 2500 ЀЀ/Ѐ
3
? (ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀЀ V = 4πR
3
/3.) 

5. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ 

Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ? 

6. 1) ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 160-ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ 2017Ѐ. 2) ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ? 

3) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ? 
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10-Ѐ ЀЀЀЀЀ 
1. ЀЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ»? ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ? 

2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2016 ЀЀЀЀ? 

3. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: «ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ». 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀ? 

4. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ Ѐ Ѐ. ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ 

58°36'.) 

5. 21 ЀЀЀЀЀЀЀ 2017 ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 113 ЀЀ. 

ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ? ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ 384 400 ЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 1738 ЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 57'02'', ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀ 1''). 

6. Ѐ 2017 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 40 ЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀ-1,2». «ЀЀЀЀЀЀЀ-2» ЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ 20 ЀЀЀЀЀЀЀ 1977 ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 15 ЀЀ/Ѐ (0,005% ЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ). ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ 20 ЀЀЀЀЀЀЀ 2017 ЀЀЀЀ? ЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 100 Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 130 Ѐ. Ѐ.) 

 

11-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ? 

2. ЀЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ»? ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ? 

3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ϕ = 58°36' (Ѐ. ЀЀЀЀЀ). ЀЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ δ ЀЀЀЀЀ: Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ; Ѐ) Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ106, ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 0,5 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 4 ⋅ 10
3
 ЀЀ/Ѐ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ⋅ 10
30 

ЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  

G = 6,67 ⋅ 10
–11

 (Ѐ ⋅ Ѐ
2
/ЀЀ

2
). ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 365,256 ЀЀЀЀЀ. 

5. Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 25", Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ 30'. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀ. 

6. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ? 
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ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

2. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ 23 Ѐ 56 ЀЀЀ. ЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 24 Ѐ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
 

5–6-Ѐ ЀЀЀЀЀЀ 
1. «ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ». ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀ: «ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ Ѐ ЀЀЀЀЀ) «ЀЀЀЀЀЀ» ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
«ЀЀЀЀЀЀЀЀ», ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀ-
ЀЀЀЀ) – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

2. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ-
ЀЀЀ – ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀ 
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

3. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ: s = υt. ЀЀЀЀЀ 40 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ: 

t = 40 ⋅ 365 ⋅ 24 ⋅3600 c = 1261440000 Ѐ. 

s = 17 ЀЀ/Ѐ ⋅ 1261440000 Ѐ = 21444480000 ЀЀ ≅ 143 Ѐ. Ѐ. 
ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 130 Ѐ. Ѐ, ЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ - 2 ЀЀЀЀЀ; ЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ - 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ Ѐ. Ѐ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀ, 
ЀЀЀ «ЀЀЀЀЀЀЀ-1» ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ - 2 ЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

4. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ 
ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀ 4 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ - 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ - 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 32. 
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7-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

t = 24 ⋅ 60 + 37 = 1477 (ЀЀЀ) (1). ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: t = 1477/4 = 369,25 (ЀЀЀ) 

(2). ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

t1 = 27 ⋅ 24 ⋅ 60 = 38880 (ЀЀЀ) (3). 

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ: 38880/369,25 ≅ 105 ЀЀЀ (4). 

ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ 24 ЀЀЀЀ, Ѐ.Ѐ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (1), (2), (3), (4) – ЀЀ 1 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

2. 1) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ 

«ЀЀЀЀЀЀ», «ЀЀЀЀ» – ЀЀЀЀЀЀЀЀЀ. «ЀЀЀЀЀЀ»: ЀЀЀ – ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ», «ЀЀЀ» – ЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀ». ЀЀ- ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ».  

2) ЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ», ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. «ЀЀЀ» - ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀ – 

ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀ», «ЀЀ-

ЀЀЀЀЀЀЀЀ». 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ» Ѐ «ЀЀЀЀЀЀЀЀЀ» – 4 ЀЀЀЀЀ; 

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀ» Ѐ «ЀЀЀЀЀЀЀЀЀЀ» – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

3. ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ.  

«ЀЀЀЀЀЀ ЀЀЀЀЀ» – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ. 

«…ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ…» – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀ, ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ – 3 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ – 3 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ, ЀЀЀ «ЀЀЀЀЀЀ ЀЀЀЀЀ» Ѐ 

«..ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ: 140000 – 2 ⋅ 13000 = 114 000 ЀЀ – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ – 2 ЀЀЀЀЀ; ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀ 4 ЀЀЀЀЀ). 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 32. 
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8-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ ЀЀ 1781 ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 6-Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

2. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ t = S/υ = 151372800000000/1600 = 94608000000 (c). 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ: t = 94608000000/(3600 ⋅ 24 ⋅365) ≅ 3000 (ЀЀЀ). 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ – 4 ЀЀЀЀЀ. 
 

3. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: Ѐ. ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ» – 1 ЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – 1 ЀЀЀЀ, ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  
 

4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: R = 6 ⋅ 10
7
 Ѐ, 

V = 4 ⋅ 3,14 ⋅ (6 ⋅ 10
7
)
3
 ≅ 9,04 ⋅ 10

23
 (Ѐ

3
), m = 95 ⋅ 6 ⋅ 10

24
 ≅ 5,7 ⋅ 10

26
 (ЀЀ), 

ρ = m/V = 5,7 ⋅ 10
26

/(9,04 ⋅ 10
23

) ≅ 630 (ЀЀ/Ѐ
3
). ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ρ = 1000 ЀЀ/Ѐ

3
, 

ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ), ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ  – 1 ЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 32. 
 

9-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ — 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ; 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

2. ЀЀЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ 52 ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ 364 ЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 52-Ѐ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ 365-Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 1 ЀЀЀЀ. ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ; ЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ – 5 ЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

3. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ: t = s/υ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ: s = 3 ⋅ 10
8
 Ѐ/c ⋅ 365 ⋅ 24 ⋅3600 Ѐ ⋅ 85 = 8,04168 ⋅ 10

17
 Ѐ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ: t = 8,04168 ⋅ 10
17

/(17 ⋅ 10
3
 Ѐ/Ѐ) = 0,47304 ⋅ 10

14
 Ѐ = 1,5 ЀЀЀ. ЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 1 ЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ – 
2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ – 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
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4. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 

R

mυ

R

Mm
G

2

2
≥ , ЀЀ ЀЀЀЀ 

R

υ

R

M
G

2

2
≥  (1). 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ υ = 2πR/T, ЀЀЀЀЀЀЀЀ 
2

223
4

3

4

T

R

R

RG π
≥

ρπ
 (2). ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
2

3

GT

π
≥ρ  (3). 

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ! ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ρ ≥ 2725 ЀЀ/Ѐ
3
. ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 2500 ЀЀ/Ѐ

3
 ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 2 ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ (1) – 2 ЀЀЀЀЀ; 

ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ (2) – ЀЀ 1 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀ (3) – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ — 2 ЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

5. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ 
 

6. 1) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ» – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

3) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 48. 
 

10-Ѐ ЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀ – ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (α-

ЀЀЀЀЀЀ, β- ЀЀЀЀ, γ-ЀЀЀЀЀЀЀЀ) Ѐ 1 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (α-ЀЀЀЀЀЀЀЀ). ЀЀЀЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ). 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ» – 3 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ) – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

2. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ (ЀЀ-

ЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

9 ЀЀЀ 2016 Ѐ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – ЀЀ 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
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3. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀ ЀЀ ЀЀ «ЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – ЀЀ 2 ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, 
Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ). 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

4. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: h = 90° – ϕ + δ  (1). 
Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ δ = 0° (2). 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ:  

h = 90° – 58°36' = 31°24' (3). 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ» – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀ (ЀЀЀ ЀЀ-

ЀЀЀ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (1) – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (2) – 2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀ (3) – 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

5. ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀ: RЀ = D ⋅ sinρЀ (1) ЀЀЀ ЀЀ-ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀ RЀ ≅ DρЀ (2). 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀ: RЀ = D ⋅ sinρЀ ≅ DρЀ (3). ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ: 

ρЀ = RЀ ⋅ ρЀ / RЀ (4). ЀЀЀЀЀЀЀЀ: ρЀ = 56,5 ЀЀ ⋅ 0,0166 ЀЀЀ / 1738 ЀЀ ≅ 0,00054 ЀЀЀ ≅ 1,86' (5).  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ρЀ = 57°02' ≅ 0,0166 ЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 3,72'.  
1) ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. 
2) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1'', Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ (1) Ѐ (2) – 4 ЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀ (4) Ѐ ЀЀЀЀЀЀ (5) – 
2 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

6. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: υ = 3 ⋅ 10
5
 ⋅ 0,005 = 15 (ЀЀ/Ѐ). 

ЀЀЀЀЀ ЀЀЀЀЀЀ 40 ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ: t = 40 ⋅ 365,25 ⋅ 24 ⋅ 3600 ≅ 1,262 ⋅ 10
9
 (Ѐ)  (1). 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ-2» ЀЀ ЀЀЀ ЀЀЀЀЀ: 

s = υt = 15 ЀЀ/Ѐ ⋅ 1,269 ⋅ 10
9
 Ѐ ≅ 1,89 ⋅ 10

10
 ЀЀ ≅ 126 Ѐ. Ѐ. (2). 

ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. «ЀЀЀЀЀЀЀ-2» ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» Ѐ 
«ЀЀЀЀЀЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 48. 
 

11-Ѐ ЀЀЀЀЀ 
1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 12 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀ - ЀЀЀЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀ (6 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ). 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ8 ЀЀЀЀЀЀ. 

RЀ RЀ D 
ρЀ 

ρЀ 
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2. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀ 10 ЀЀЀЀЀЀ. 
 

3. Ѐ) δ ≥ 90°– ϕ = 31°24' – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ NB; 

Ѐ) δ ≤ 90°– ϕ = –31°24'  – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ SC; 

Ѐ) δ > ϕ = 58°36' – ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

AZ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ φ – 1 ЀЀЀЀ; ЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀ 1 ЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀЀ – 4 ЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

8 ЀЀЀЀЀЀ. 
 

4. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ: 

HR

GM

V
H

ЀЀ
+

=

⊕

⊕  (1). ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
ЀЀЀ

ЀЀ

R

GM
V

..

=  (2) 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ: 

RЀЀЀ = 0,5 ЀЀ.Ѐ. = 0,5 � 3 � 10
8 

� 365,256 � 24 � 3600 Ѐ = 4,734 � 10
15

 Ѐ.  

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ (2) ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ: ЀЀ.Ѐ. = RЀЀЀV
2
/G. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ: ЀЀ.Ѐ. =1,136 � 10
39 

ЀЀ = 5,678 � 10
8
 ЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (2) ЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ - 2 ЀЀЀЀЀ; ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ – 1 ЀЀЀЀ; ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ8 ЀЀЀЀЀЀ. 
 

5. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 

30 ⋅ 60'' /25'' = 72. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 72 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀ-

ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 72 � 5ЀЀ = 36 ЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ – 4 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

6. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 1
3

..

2
=

ЀЀЀЀЀ
ЀЀ  

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
Ѐ.Ѐ. 0,5 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: 

354,05,0
33
=== ЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 

∆Ѐ = 0,177 ЀЀЀЀ ≈ 65 ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ – 2 ЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 2 ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 48. 
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